RiBERZIOZFEALIAMNEHA

EMAE . MAEHB #HB /R 47211
B4 #ithia
X B 1054038068 F36 B R EM T £ — B(¥ — B)

BEREREMEE  BERTEHS

10 » BE 10 57

[—] B (2x-3y)° Z R -
[Z] 4@%LERE y = arcsin(x) Z pHEE -
(=] BERERE Y = f()BEQ () =122 B 1S5 £1.5) = (1.51.8) k& - EHGMEAREAE f(1.2)

21 -
(o) %Jrﬁg—(l(}‘) :
X
(F] SRSy = 2x° —9x2 +12x+1 » FE[-1, 3]s 2 A E B/ M -
[A) 518 [Inxdx » FYIHIEE -
] B y=x+1 » y=—2x+7 » xliff > y BFTEE EHEE -

Tt HE[T eV

N N
U 5 ggg[x—«/f +x] -

[+] *+%Z

n(n + 1)

HENEAMENREN - EARAABMBATLES  wHARXGARFE  BrEFFERABEY  HEAFRMAST -



